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PROPORTIONALITIES
Proportionality

ror //I •8. the given segments of the triangle fiom parallel lines are proportional.
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Triangle Proportionality Converse

For #1-8, write whether the given segments ofthe triangle are parallel or not.

Find x. Show work.
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Show work.
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Parallel Line Proportionality



Date:

Name: Date:

PROPORTIONALITIES

For #1-8, the given segments formed by three parallel lines are proportional. Find x. Show work.
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Triangle Angle Bisector Proportionality

For #1-8, the given segments formed by an angle bisector are proportional. Find x. Show work.
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Mid-segment Theorem:

The mid-segment of a triangle

(also called a midline) is a

4.
joining the

of a triangle.

Examples:

of two sides
c

D

Find tbe length indicated.

1) FindRQ

22

Solve for x.

3)

r 1—18

Find the missing legth indicatd.

5) Find

x +24
D

c mid-scgmcnt

D is nüdpoint of AC. E is of BC

DE: DE Il AB. DE=-AB

B

2) FindEG

s

to 2-0

h'

2X+6

14K —10 BX

ax-ID—ID

x 76

6) FindAZ

z

- u 16
G 2x-8

141— 3 a



Midsegntent lh•oetice

M, N. 0/ hid"", segment parallel to the one

gis

Il OC

INV Il MP

Find the missing length indicated.

3) Find EF 4) Find zy

22 16

EP—II

6) Find RP

5) Find 1K

Solve for x.
-28+-64 8)

) )Q+tVl

7)
X + 14

2x-8 31-



Cieotnetry

Find the missing length indicated.

11) Find FD 12) Find GE

Date:

at 23
X -F 24

-1+17

24
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13) FindZV 14)

2x-8

z x 14
13 X 30

15) Find LM 16)

U
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x +23

Find rx
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2x +29

X + 28

x

Find IH

= 3X—Q

X = 01
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